Group A Tuesday 2.2.21 CHALLENGE

Find all the possible calculations using the clues.
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The number in the circle is greater than 3.

The number in the square is less than 24.
Both numbers are even.

The number in the square is a 2-digit number.

How many wheels are there on five bicycles?

CRCRCACRE

If there are 14 wheels, how many bicycles are there?

1. Can you match the picture to the number line with the matching jumps?
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2. Can you draw jumps of 2 on the number line for the following pictures?

(O D WO

0 1 2 3 4 5 6 7 8 g 10 11 12 13 14 15 16 17 18 19 20
3. How many 2s are in 20? Can you draw the jumps? [ J
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4. What are 6 lots of 2? Can you draw the jumps? | I
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